x8 MRASIIAHIMRERERR

(BEQZ: 5,/ m)

X% 4 A 5 A 6 A 7 A

X =104 ~204 ~304 ~504 505= &&F =204 =304|=104 ~204 ~304 ~504 505= HiFt =204 =304| =104 ~204 ~304 ~504 505= &F =204 =304(=104 ~204 ~304 ~504 505= &Hit =204 =304
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

" 14.6  67.2 18.2 1000 81.8 100.0 [ 10.8 78.0 11.2 1000 88.8 100.0 9.5 62.5 27.9 1000 72.1 100.0 [ 14.1 52.5 32.5 0.8 1000 66.6 99.2
A S| 8.1 46.2 45.8 1000 54.2 100.0 4.5 474 48.1 1000 51.9 100.0 6.0 45.1 45.9 3.0 1000 51.1 97.0 0.2 43.0 53.9 2.9 1000 43.2 97.1
£ 0.7 45.6 51.1 2.6 0.0 1000 46.4 97.4 1.1 46.1 50.9 1.9 1000 47.2 98.1 0.8 45.5 48.8 4.9 1000 46.3 95.1 0.8 42.1 543 2.9 1000 429 97.1
® & 0.1 60.6 39.0 0.3 1000 60.7 99.7 0.4 40.0 59.6 0.0 1000 40.4 100.0 44.6  55.4 0.0 1000 44.6 100.0 41.0 56.1 2.9 1000 41.0 97.1
% W 0.7 65.8 27.2 6.3 1000 66.5 93.7 0.5 58.8 34.2 6.6 1000 59.3 93.4 0.3 73.1 18.3 8.3 1000 73.4 91.7 59.2  32.6 8.2 1000 59.2 91.8
B B 2.8 61.2 36.0 1000 64.0 100.0 0.8 61.6 37.6 1000 62.4 100.0 2.3 52.7 45.0 100.0 55.0 100.0 0.8 36.6 61.4 1.3 1000 37.3 98.7
B iR 0.0 69.2 29.6 1.1 1000 69.3 98.9 0.2 61.4 36.8 1.5 1000 61.7 98.5 1.9 62.0 36.1 1000 63.9 100.0 0.1 50.3 49.6 1000 50.4 100.0
== 0.0 71.3 27.5 1.2 1000 71.3 98.8 1.3 63.4 344 0.9 1000 64.7 99.1 5.1 59.8 319 3.3 1000 64.8 96.7 2.4 63.1 32.5 2.0 1000 65.5 98.0
+ B 9.1 70.1 20.3 0.6 1000 79.1 99.4 9.4 68.0 21.9 0.6 1000 77.4 994 8.7 67.3 229 1.1 1000 76.0 98.9 59 63.9 28.1 2.1 0.1 1000 69.8 97.9
8 B 7.5 729 188 0.8 1000 80.4 99.2 6.3 76.1 17.0 0.6 1000 82.4 994 6.0 70.7 22.5 0.8 1000 76.8 99.2 4.9 67.0 26.8 1.3 1000 71.9 98.7
R OE 5.7 732 204 0.7 1000 78.9 99.3 5.2 724 22.0 0.4 1000 77.6 99.6 5.3 713 23.0 0.4 1000 76.6 99.6 49 69.2 249 1.1 1000 74.0 98.9
m E 5.8 62.6 30.7 0.9 1000 68.4 99.1 4.8 63.8 29.5 1.9 0.0 1000 68.6 98.1 2.8 57.7 374 2.2 1000 60.5 97.8 3.2 52.0 41.4 3.4 1000 55.2 96.6
= B 3.6 53.1 428 0.5 1000 56.8 99.5 3.1 48.6 47.6 0.7 1000 51.7  99.3 2.3 473 489 1.5 1000 49.6 98.5 2.8 444 50.8 2.1 1000 47.2 979
2] 0.0 27.0 67.1 5.9 1000 27.0 94.1 224 69.0 8.6 1000 224 914 20.5  73.0 6.4 1000 20.5 93.6 13.7  78.0 8.3 1000 13.7 91.7
E Y 6.3 66.1 267 1.0 0.0 1000 724 990 59 653 278 1.1 00 1000 712 989 54 630 302 14 1000 683 986 43 591 345 21 00 1000 634 9738
284EJEL] 6.2 67.1  25.6 1.1 0.0 1000 73.3 98.9 6.2 64.5 28.1 1.2 0.0 1000 70.7 98.8 5.5 63.5 29.5 1.5 0.0 1000 69.0 98.5 4.8 60.1 33.3 1.8 0.0 1000 64.9 98.2
QTAEFEEHE] 4.9 652 29.1 0.9 1000 70.1 99.1 5.2 62.6 31.2 1.1 1000 67.7 98.9 4.8 63.5 30.7 1.0 1000 68.3 99.0 3.8 604 34.0 1.7 1000 64.3 98.3

X5 8 A 9 A 10 A 11 A

X <104 ~204 ~304 ~504 505=< &F =204 =304|=104 ~204 ~304 ~504 505= HiFt =204 =304| =104 ~204 ~304 ~504 505= &HF =204 =304 =104 ~204 ~304 ~504 505= HiFt =204 =304
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

" ¥ 4.9 62.6 31.5 1.0 1000 67.5 99.0 8.7 54.8 34.6 1.9 1000 63.5 98.1 9.8 66.6 23.7 1000 76.3 100.0 8.4 79.6 8.4 3.6 1000 88.0 96.4
g )| 0.1 29.0 50.6 18.0 2.4 1000 29.0 79.6 59 37.0 45.4 9.3 2.3 1000 43.0 88.4 6.1 47.0 40.4 6.6 1000 53.0 93.4 8.6 55.8 28.0 7.5 1000 64.4 92,5
£ 0.0 41.5 53.4 5.1 1000 41.6 94.9 0.4 44.0 51.7 3.9 1000 44.4 96.1 0.8 58.7 38.4 2.1 1000 59.5 979 1.1 69.4 288 0.7 1000 70.5 99.3
#® & 31.5 68.4 0.0 1000 31.5 100.0 1.1 35.0 63.8 0.2 1000 36.1 99.8 0.3 48.6 48.2 3.0 1000 48.8 97.0 0.1 326 67.2 1000 32.8 100.0
% W 0.3 56.5 34.2 9.0 1000 56.8 91.0 49.9  41.7 5.7 2.7 1000 499 91.6 61.1 31.1 5.6 2.2 1000 61.1 92.2 64.7 27.1 8.2 1000 64.7 91.8
E B 0.8 43.6 54.9 0.7 1000 44.4 99.3 0.1 452 53.2 1.4 1000 45.3 98.6 1.5 59.2 39.3 1000 60.7 100.0 0.1 62.9 359 1.1 1000 62.9 98.9
B iR 0.3 58.2 41.5 1000 58.5 100.0 0.1 61.6 34.6 3.7 1000 61.7 96.3 0.7 58.0 41.1 0.2 1000 58.7 99.8 0.0 66.7 31.7 1.6 1000 66.7 98.4
== 3.4 434 484 4.8 1000 46.8 95.2 1.3 56.1 39.2 3.5 1000 57.4 96.5 1.4 53.8 434 1.3 1000 55.2  98.7 0.1 66.1 33.8 1000 66.2 100.0
+ B 5.4 619 29.8 2.9 1000 67.3 97.1 5.9 65.4 26.7 2.0 1000 71.3  98.0 7.9 69.5 21.4 1.2 1000 774 98.8| 11.0 69.4 18.8 0.7 1000 80.4 99.3
8l B 4.8 73.8 20.1 1.3 1000 78.6 98.7 7.5 747 16.4 1.5 1000 82.2 98.5 8.1 74.7 16.4 0.8 1000 82.8 99.2 7.9 80.6 11.2 0.3 1000 88.4 99.7
RO=E 4.6 68.7 26.3 0.5 1000 73.3 99.5 4.6 T71.1 238 0.4 1000 75.7 99.6 6.4 733 19.8 0.4 1000 79.7 99.6 6.8 75.8 17.0 0.4 1000 82.6 99.6
m E 2.9 51.2 423 3.6 0.0 1000 54.1 96.4 3.3 56.1 39.1 1.5 1000 59.5 98.5 45 644 30.4 0.7 1000 68.9 99.3 6.2 67.4 26.0 0.4 1000 73.6 99.6
= B 2.2 359 60.3 1.6 1000 38.1 984 2.0 449 51.2 1.9 1000 46.9 98.1 3.1 50.6 46.0 0.3 1000 53.7 99.7 3.0 52.6 43.9 0.6 1000 55.6 99.4
2 B, 0.0 12.8 70.2 17.0 1000 12.8 83.0 0.5 16.1 70.0 13.5 1000 16.5 86.5 0.0 28.6 61.2 10.1 1000 28.6 89.9 0.8 28.8 62.6 7.1 0.8 1000 29.6 92.2
E o1y 39 584 350 2.7 00 1000 623 973 46 618 317 20 00 1000 663 980 59 665 264 1.1 00 1000 725 988 71 693 228 0.8 00 1000 764 992
2BAEFESEH] 2.8 525 413 3.3 0.1 1000 55.3 96.6 2.6 52.6 41.5 3.3 0.0 1000 55.2 96.7 3.9 634 313 1.4 0.0 1000 67.3 98.6 55 68.2 254 0.9 0.0 1000 73.7 99.1
QTR 2.5 53.2 413 3.0 0.0 1000 55.6 97.0 3.7 61.3 33.5 1.5 0.0 1000 65.0 98.5 4.8 65.8 28.2 1.1 0.0 1000 70.6 98.8 6.8 67.9 24.4 0.8 1000 74.7 99.2




(BEQZ: 5,/ m)

X% 12 A 1 A 2 R 3 A
1‘ﬁl,|z =104 ~204 ~304 ~504 505= H&AF =204 =304|=104 ~204 ~304 ~504 505= HiF =204 =304|=104 ~204 ~304 ~504 505= HE =204 =304| =104 ~204 ~304 ~504 505= Hi =204 =304
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
A ¥ [ 109 8.5 68 18 1000 91.4 98.2| 14.7 65.7 19.7 1000 80.3 100.0| 17.2 68.6 12.4 1.8 1000 85.8 98.2| 12.9 704 150 1.7 1000 83.3 98.3
ZZ 40 | 102 404 444 5.0 1000 50.6 95.0| 10.1 358 515 2.5 1000 459 97.5| 105 47.2 39.6 2.7 1000 57.7 97.3| 12.2 505 30.7 6.7 1000 62.7 93.3
£l 1.1 707 263 1.9 1000 71.8 98.1| 2.6 57.3 392 0.9 1000 59.9 99.1| 24 607 348 2.1 1000 63.1 97.9| 2.7 559 404 1.0 1000 58.6  99.0
#® & 0.4 79.1 204 0.2 1000 79.5 99.8| 0.4 59.0 40.5 0.1 1000 59.5 99.9| 0.2 627 37.0 1000 63.0 100.0| 0.4 60.4 39.2 1000 60.8 100.0
¥ W 58.5 335 5.5 2.6 1000 585 92.0 66.6 245 86 0.4 1000 66.6 91.1 72.2 193 8.5 1000 72.2 91.5 79.5 12.0 8.5 1000 79.5 91.5
E B 64.3 350 0.7 1000 643 99.3| 0.2 67.3 31.8 0.6 0.0 1000 67.5 99.3| 08 733 252 0.6 1000 741 99.4| 0.8 66.3 31.2 1.7 1000 67.1 98.3
B & 3.5 585 335 4.6 1000 61.9 954| 3.4 624 327 1.6 1000 65.8 98.4| 2.6 600 37.4 1000 62.6 100.0 | 1.1 642 31.2 3.5 1000 65.3 96.5
H 5 2.8 718 25.4 1000 74.6 100.0 | 2.7 62.1 35.2 1000 64.8 100.0 | 4.0 63.7 32.3 1000 67.7 100.0| 5.4 675 26.3 0.8 1000 729 99.2
+ B | 112 700 180 0.7 1000 81.2 99.3| 9.7 682 21.1 1.1 1000 77.8 98.9| 109 689 19.0 1.2 1000 79.8 98.8| 11.1 654 223 1.2 1000 76.6 98.8
8 B 6.2 76.0 17.6 0.2 1000 82.2 99.8| 7.4 751 162 1.3 1000 825 98.7| 6.2 740 189 0.9 1000 80.2 99.1| 7.2 726 195 0.8 1000 79.8 99.2
ROE 6.7 73.8 19.1 0.4 1000 80.5 99.6| 5.5 712 227 0.6 1000 76.7 99.4| 4.9 704 243 0.4 1000 753 99.6| 5.7 719 220 0.4 1000 77.6  99.6
B E 6.2 680 244 1.3 1000 742 98.7| 5.2 656 285 0.7 1000 70.8 99.3| 5.2 687 248 1.3 1000 739 98.7| 5.9 621 306 1.4 1000 68.0 98.6
= B 3.1 554 40.9 0.6 1000 585 99.4| 2.9 493 46.4 1.4 1000 52.2 98.6| 2.5 508 46.4 0.4 1000 53.2 99.6| 2.8 488 47.7 0.7 1000 51.6 99.3
2 8 36.7 55.1 8.2 1000 36.7 91.8 23.6 69.0 7.4 1000 23.6 92.6 33.1 604 6.5 1000 33.1 93.5 23.2 674 9.5 1000 23.2  90.5
T3 70 692 228 10 00 1000 762 990| 64 659 265 12 00 1000 723 988| 65 670 253 1.1 1000 735 989| 70 645 272 12 1000 715 988
R4EJESEH] 5.8 675 259 0.7 0.0 1000 73.4 99.3| 6.1 66.1 269 1.0 1000 72.2 99.0| 65 67.6 250 1.0 0.0 1000 74.0 99.0| 6.1 684 248 0.7 0.0 1000 745 99.3
QTAEFEEH] 6.4 688 242 0.6 0.0 1000 75.2 99.4| 6.5 66.6 263 0.6 1000 73.0 99.4| 6.1 671 258 1.0 1000 732 99.0| 6.0 66.5 264 1.1 1000 72.5 98.9
X5 T ¥9(4A~3R) 2 ERIEEEFERUR L)
X <104 ~204 ~304 ~504 505= & =204 =304 =204 =304
% % % % % % % % % %

A ¥ | 114 674 202 1.0 1000 78.8 99.0 78.3 (0.5) 98.7 (0.3)

E 6.9 43.7 43.7 52 0.4 1000 50.7 94.4 59.1 (-8.4) 94.0 (0.4)

£ 1.2 533 43.0 25 0.0 1000 545 97.5 51.6 (2.9) 95.5 (2.0

#® & 0.3 49.7 49.4 0.5 1000 50.0 99.5 4838 (1.2) 99.5 (0.0)

% W 0.1 638 28.0 7.4 06 1000 639 91.9 60.7 (3.2) 933 (-1.4)

E B 0.9 579 40.5 0.7 0.0 1000 588 99.3 63.2 (-4.4) 99.3 (0.0)

B iR 1.2 611 363 1.5 1000 62.2 98.5 65.8 (-3.6) 99.4 (<0.9)

B & 2.5 619 342 1.5 1000 64.4 98.5 64.2 (0.2) 97.8 (0.7

+ B 89 67.3 225 1.3 0.0 1000 76.2 98.7 72.3 (3.9 98.6 (0.1)

8 B’ 6.6 74.0 185 0.9 1000 80.6 99.1 785 (2.1) 99.3 (-0.2)

R = 55 71.8 221 05 1000 77.3 99.5 75.6 (1.7) 99.5 (0.0)

m E 4.7 617 321 1.6 0.0 1000 66.3 98.4 64.0 (2.3) 98.1 (0.3)

= A 2.8 484 478 1.0 1000 51.2  99.0 52.9 1.7 99.3 (-0.3)

2 @ 0.1 238 67.0 9.0 0.1 1000 23.9 90.9 31.1 (-7.2) 925 (-1.6)

T 59 647 281 14 00 1000 705 986 68.6 (1.9 98.5 (0.1

2B4EFEE] 5.2 635 299 1.5 0.0 1000 68.6 98.5

QTHERENEYS) 5.1 640 29.6 1.2 0.0 1000 69.2 988




